Multiplicar Tres Polinomios (E)

DO

Ot

Simplifique cada expresion.

(—9b* — 5b)(3b + 2b* — 8b)(9b* — 2b° — 3b?)

- (—58% 4 25) (45> — 45 — 25)(7s° — 25* — 55%)

(=30% + 607) (—v® 4+ 9t — 20%) (202 — v+ 7)

(=8m + 8)(—4m? — Tm — 4)(—=Tm> — 4m* + 5m)

(=B =B (= =8 =6 (9 + 4P+ 4f7)
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Multiplicar Tres Polinomios (E) Respuestas

)}

w

ot

Simplifique cada expresion.

(—9b* — 5b)(3b + 2b* — 8b)(9b* — 2b° — 3b?)
= —243b° — 243b% + 7056" + 3350° — 266b° — 1204

(=58 + 25) (45> — 45% — 25)(7s” — 25* — 55?)
= —140s" 4 2365” + 58s% — 1725 — 255 + 20¢°

(=30 + 60 (—v® + 9t — 20%) (20 — v + 7)
= 60! — 7507 + 2400° — 43507 + 4560° — 840°

(=8m 4 8)(—4m?* — Tm — 4)(=Tm> — 4m? + 5m)

~

— —9224m5 — 296m° + 232m™* + 440m?> + 8m? — 160m

(B =B (=S =8 = 6/ (=9f + AP+ 4f7)
— —45f13 — 38512 — 430 M + 1901 + 400f° + 120f°
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